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Cluster: 0166 ptr; resid: 0.21; r/c: 27/77

x.range

upstream meme PSSM #1; e=5.9

1 3 5 7 91 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=5e+04
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11493

15677

17495

31544
32851

34059

35895

38045

42891

43271

43649

44272

45125

45267

45348

45577

45629

45684

45891

45910

46664

46720

46742

47186

52395

59539

8970

−500 −400 −300 −200 −100 −1
11493NA
15677NA
52395NA
59539NA
42891−0.03

8970−0.06
44272−0.22
31544−0.23
45577−0.34
45267−0.38
32851−0.38
43271−0.66
43649−0.86
38045−1.38
46720−1.38
45629−1.70
45684−1.79
45348−1.98
45910−2.55
45891−2.58
35895−2.79
34059−4.32
45125−5.80
47186−5.90
17495−6.17
46742−6.54
46664−7.47

log10(P) upstream meme1 2 log10(P.clust)=−2.41; 27 seqs; 24 uniq
c(0.5, 2.5)
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